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Answer ALL questions.

PART A — (10 x 2 = 20 marks)

Give single sentence definition for the following words :

" (a) Solar Cooker

(b) - Virtual Memory.

Expand the following compound nouns so as to bring their meanings.
(a) Waste management ' : ,

(b) Business proposal.

Fill in the blanks with the comparative form of the adjectives given in brackets :
(a) Copper is (useful) than lead.’
() Fossil fuel is (costly) than fire wood

Fill in the blanks with suitable prepositions.

When the reactor the state of Rajasthan that first put India
the nuclear world map developed a series
defects, starting turbine-blade failures. ‘

Rewrite the two infinitive sentences using the gerund form.
(@). To save money now is practically impossible |

(b) Itis easier to read French than to speak it.
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11.

Add suitable prefixes and form words which suit the meanings given.

(a) active (i) excessively above
(b) venous (i) inside

(© modem ' (iii) beyond

@

form - (iv) same

Decide on the meaning of the statements and add will/ can or may.

(a) Iron and steel at a high temperature — oxidise in the air.

(b) The docks handle more than twenty ships at a time.

(¢) This iype of disease . cause death.

(d) The winds in the centre of the storm » : he up to 130 miles
per hour.

Fill in the blanks with the correct form of the words given in the brackets.

From the economic point of view, solar cookers (be) ideal
cooking devices for rural India. But when one (consider) the
time factor, they (prove) to be disappointing. The community
type hybrid solar cooker (design) bearing in mind both the cost
and time. ‘ -

Frame suitable questions for the statements given below :
(a) 1was late, because the bus was late

(b) She passed the examination last year.

Punctuate the following :

These books now form the bible of all birdwatchers in india in 1987 at the age
of 91 Dr salim ali passed away from prostate cancer the legendary birdman is
no more but his legacy lives on. ' :

PART B — (5 x 16 = 80 marks)

Read the following passage and answer the questions that follow :

When jet aircrafts were first put into service, certain accidents showed why it
would be necessary to bring about many changes in the material and design of
these planes. All the aircrafts involved, broke in flight and the recovered
wreckage had the appearance of having been in an explosion. The grounding of
the aircraft and various researches on them revealed where the fault lay. After
weeks of research and examination of wreckage, a whole fuselage was
submerged in a tank full of water and subjected to fluctuating pressures. The
conditions of a flight at a high level were simulated. The idea showed how a
pressurized aircraft would behave under the stresses of a high-level flight.
Alter some hours under these conditions, the fuselage developed cracks and
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[image: image3.png]ultimately failed. The aircraft went back into service after modifications to the
fuselage. The scientists had discovered what the trouble was. They discovered,
how a well known metallurgical and engineering phenomenon called fatigue
affected the body of the aircraft. Fatigue is defined as a reduction in the
strength at which metals fail when they are subjected to fluctuating loads. It is
a very common cause of failure. An axle or a bolt that has suddenly broken for
no apparent reason is a common sight. Several factors decide when metal
fatigue will set in. Any particular point in the metal is being alternately
stretched and compressed when and axle revolves. The fatigue also depends on
the size of the load and the number of times the rod has revolved. The
temperatures of the axle, the environment, the surface finish of the rod, all
together decide how soon a material will be affected by fatigue. A large
proportion of fatigué cracks start at the surface and this shows how important
the surface condition of metal is Care taken. In the design stage can prevent
what may be disastrous failures later on. ‘Many cracks start at a badly
positioned oilway, a machining undercut, a sharp corner or some other source
of stress that could have been eliminated by a better design. One natural
phenomenon that may give rise to a fatigue failure is ‘resonance’ in the
component. It may set up a stress cycle or accentuate an existing normal cycle
until it is outside the safe limit. Large troops marching over bridges are
sometimes required to break step because the rhythmic pounding of their boots
could set up a resonance in the bridge which could lead to structural damage.

(a) Answer the following questions : , _
(i) Why were accidents significant in the development of aircrafts?
(i) What did the researches on aircraft reveal?
(iii) Define Fatigue.

(iv) What do you mean by resonance?

() Say whether the following statements are TRUE or FALSE :

(i) The researches could not find out the reason for the wreckage.
(ii) When metals are subjected to fluctuating loads, they fail.
(iii) Care taken in the design stage can prevent cracks

(iv) The rhythmic pounding of boots of a large troop could lead to
structural damages.

(c) Complete the following suitably :

(i) After some hours, the fuselage developed cracks and ultimately
failed, because of

(ii) The size of the load and the number of times the rod has revolved is
one of the reasons for

(iii) The surface condition of the metal is very important because

(iv) Until it is outside the safe limit, the resonance may set up
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[image: image4.png](d) Choose the correct synonym for the following words as used in the
passage :

(i) Fatigue ,
(1) being tired
(2) tiring task
-(3) weaknéss in metals due to stress
(i1) = Fluctuate
(1) move up and down
(2) irregular
(3) oscillate
(iii) Fuselage
(¢Y)
| (2)  body of an aircraft
€)) _ part of a shell '
(iv) " Pounding
(1) walk heavily
(2) break to pieces
(3). strike heavily and repeatedly

discharge of firearms

| 12. (@) Describe the process of the extraction of gold with the help of the given
| flow chart.
[ Present as veins in gravel or rock J
[ Ore obtained | .
5 Transported 10 mi} old is recov
V T
[Ore is washed using water |
v
| Recovery of pure gold (Three procedures) ]
. o :
v v B v
Floatation Amalgamation Cynaidation

Foam is produced using a
frothing agent

A film of gold obtained
using a collecting agent

Ore mixed with water to
get a pulp

V.

Collected on a mercury

covered copper plate

Gold dissolved in
‘sodium cyanide
potassium cyanide
or
calci.um cyanide

'
]

v v v
Pure gold separated Squeezing 'Purf: gold
from the top distillation precipitates
v
Pure gold
Or
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(b)

(@)

(b)

(a)

(b)

Make notes on the following passage :

Every living organism, be it plant or animal, depends ultimately upon
nitrates and other compounds from the soil. These compounds are vital to
the building up of the body’s proteins. The limited stock of nitrates in the
world suggests. that the supply would soon run out if the nitrates were
not returned to the soil when animals die. The series of events by which
nitrogen containing substances are returned to the soil and to other
animals is called the nitrogen cycle. The nitrogen cycle is operated by
what might be called nature’s cleansing department. It employs a large
number of workers to dispose of dead bodies and excrement, The fact that
one seldom sees dead animals or even skeletons in the countryside shows

how efficient this department of nature is.

Bacteria and other micro-organisms play a very important part in the
nitrogen cycle and are responsible for the final break down of organic
compounds. However, their action is less spectacular than that of various
carrion feeders that quickly dispose of dead bodies.. Without carrion
feeders the land would be littered with animal bodies in various stages of
decay. ‘

Among birds, the best-known carrion feeders are the vultures. One group
of these birds is distributed over America, and another ranges from the
Mediterranean and Africa to India and China. Vultures typically soar
high in the sky. They can pick out a source of food from great height and
this proves that their sight is amazing. Observers have noted that a dead
animal quickly attracts several vultures. The soaring birds can probably
see each other as well as any food, and the attention of others is attracted
when they see one swooping bird. A few vultures will rapidly reduce a
goat carcass to a mass of skin and bone, ripping flesh away with their
hooked beaks. There is even one vulture that exists largely on bones. It
caries bones up to some height and drops them until they break.

State some of the problems faced by the public due to environmental

pollution and suggest probable solutions for this.

Or

Imagine that you have to open a New Savings Bank account in the Bank
which is in your college premises. Prepare four important questions you
would like to ask the manager of the Bank and the probable answers for
your questions. '

Write a letter to the Editor of a leading Newspaper about the problems
faced by the public, during peak hours, because of the drivers not
properly hold on the buses at the bus-stops. Assume necessary details.

Or

Write a letter to your friend inviting him to attend the marriage
reception of your sister next month at Chennai. Assume necessary
details.

5 ) 95212




[image: image6.png]15.

(a)

(b)

Write two paragraphs describing Nature and its treasures, in not more

than 250 words.

Write two paragra

field of Education.

Or
phs on Modern High-Tech Tools (computer etc) in the
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